Instructions for using SPSS to complete the 
Two Dependent-samples t Lab

Open SPSS 
Select Type in Data if you are given a choice of what to do when you open SPSS.
You want to end up looking at the Data View with a blank spreadsheet in front of you.

For Experiment 2:

On page one of the Dependent-Samples Lab, you will find two columns of raw scores. One is headed by 1 foot and the other by 2 feet. You can either copy and paste the data from each column into SPSS, retaining their side-by-side layout, or you can type the scores into SPSS. Either way, you should get in the habit of checking that the numbers in SPSS are correct before continuing with your analyses. 

In Data View, copy and paste the 13 scores from the 1 foot column of raw data on the first page of the Lab file into the SPSS column headed by VAR00001 (depending on the version of SPSS, it may just say VAR, in which case, paste into the leftmost column). Copy and paste the 13 scores from the 2 feet column of raw data on the first page of the Lab file into the SPSS column headed by VAR00002 (to the right of the column in which you placed the 1 foot data). 
Switch to Variable View. You may either click on the Variable View tab in the lower left corner or double-click on the column header (VAR or VAR00001). The latter is recommended because it will bring you directly to the correct row on the Variable View page. 
Change VAR00001 to OneFoot. [This cell will not take any spaces, so use a single word and then, if you prefer, you can elaborate on the details within the Label cell.]
Change VAR00002 to TwoFeet. 
In both rows:

Change Decimals to 0 (if you hate extra 0s where they are not needed).

Make sure the cells under Measure say Scale. Recall that Scale represents both Interval and Ratio measures, both of which permit you to perform inferential statistics.
Return to Data View.

Select the Analyze tab, then Compare Means and then Paired Samples T Test. 
Use the arrow to send OneFoot to the first row of the Paired Variables box.

Next, use the arrow to send TwoFeet to the first row of the Paired Variables box.

[Alternatively, you may choose to select both the OneFoot and the TwoFeet variables at the same time by selecting one and then holding down either Shift or Control while selecting the other.]

Selecting OK will generate the results (output) in a new tab. 
In the output file that is created, right click on the box labeled Paired Samples  Statistics and select Copy Special using image/JPEG (delete the other formats first).

Paste the box into your lab worksheet so you can refer to it while completing the worksheet.





Do the same for the box labelled Paired Samples Test (copy special and paste into your worksheet). 
For Experiment 1:

Using the same data, follow the instructions from the Independent-samples t Test lab.  This means you will stack the data from the group that stood on two feet beneath the data from the group that stood on one foot, creating a  grouping variable next to these scores to indicate which scores came from Group 1 (one foot) vs. Group 2 (two feet). 
Note the following about the lab:

It is designed to have you think about the impact of changing the components of the t-test formula on the results of the formula. 

The difference between the means of the two groups is, essentially, the numerator of this formula. 

Variability is, essentially, the denominator of this formula. 

Variability does not have to be identical in both groups in order to compare the relative amount of variability in Experiment 1 vs. Experiment 2 vs. Experiment 3. In the first experiment, notice that the SDs for both groups are almost the same (both very close to 3.00).  In another one of the experiments, both SDs are much larger than that. Thus, you can conclude that the variability in that experiment is much greater than in Experiment 1. You don’t need to know how much greater in order to know that if the numerator of the formula is the same, and the denominator is much different, the result will be different in a predictable direction. 
